

Page 1 of 1

Florida Department of Transportation



Letting:

Vendor Ranking

District: District 5 Counties: LAKE Fed Aid No: N/A

Contract Time: 160 CALENDAR DAYS

Project(s): 42917627214 (*)

Contract Desc: DESILT & VIDEO

05201006

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	USA SERVICES OF FLORIDA, INC.	Responsive	Winning bid	\$274,875.00	100.00%
2	ENVIROWASTE SERVICES GROUP, INC.	Responsive	Non-Winning Bid	\$284,350.50	103.45%
3	FLOTECH ENVIRONMENTAL LLC	Responsive	Non-Winning Bid	\$303,363.00	110.36%
4	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$306,393.63	111.47%
5	AVID CONSTRUCTION & SERVICES LL	Responsive	Non-Winning Bid	\$308,097.45	112.09%
6	ATLANTIC PIPE SERVICES, LLC	Responsive	Non-Winning Bid	\$357,250.25	129.97%
7	B & D WATERBLASTING COMPANY, INC.	Responsive	Non-Winning Bid	\$481,412.95	175.14%
8	COASTAL GUNITE CONSTRUCTION COMPANY	Responsive	Non-Winning Bid	\$532,021.60	193.55%
9	LMR CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$533,587.50	194.12%
	DRAINAGE PARTNERS LLC	Non Responsive	Irregular bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 7

 Letting:
 05201006
 October 06, 2020
 Call Order:
 009
 Contract:
 E5V70

 District:
 District 5
 Counties:
 LAKE
 Fed Aid No: N/A

Contract Time: 160 CALENDAR DAYS

Project(s): 42917627214 (*)

Contract Descr: DESILT & VIDEO

FDOT District 5

Proposal ID No.: E5V70

Financial Project No.: 429176-2-72-14

Fiscal Year: 2021 County: Lake Calendar Days: 160 Lead Time: 14

This is a Maintenance Pay Item Contract.

Intent:

The work under this Contract consists of stormwater pipe desilting and video inspections on various state road sections in Lake County.

	No / Item ID	Alternate	Quantity Units	(1) USA SEF FLORID		(2) ENVIROWAS GROUP		• •	OTECH IENTAL LLC
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	NAGE STRUCTUR	ES (LF				
0005 MOBILI	0101 1 IZATION		(1.000) LS	350.00000	350.00	0.01000	0.01	9,000.00000	9,000.00
0010 MAINTI	0102 1 ENANCE OF TI	RAFFIC	(100.000) DA (LS)	450.00000	450.00	0.01000	0.01	7,000.00000	7,000.00
0015 DESILT	E430 94 1 PIPE, 0 to 24"		43,178.000 LF	2.70000	116,580.60	2.50000	107,945.00	2.00000	86,356.00
0020 DESILT	E430 94 2 PIPE, 25-36"		15,701.000 LF	3.75000	58,878.75	6.25000	98,131.25	4.00000	62,804.00





Tabulation of Bids

Page 2 of 7

Letting:	: 05201006	October 06, 20	20 Cal	l Order: 009		Contract:	E5V70	
	Line No / Item ID Alternate Quantity Item Description Units			(1) USA SERVICES OF FLORIDA, INC.		STE SERVICES P, INC.	(3) FLOTECH ENVIRONMENTAL LLC	
() indic	cates item is bid as Lump S	um	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001							
	E430 94 3 PIPE, 37-48"	1,365.000 LF	5.65000	7,712.25	7.75000	10,578.75	7.00000	9,555.00
	E430 94 4 PIPE, 49-60"	408.000 LF	7.25000	2,958.00	18.75000	7,650.00	18.00000	7,344.00
	E432 4 SEWER INSPECTION (\ \)	60,652.000 /IDEO LF	1.45000	87,945.40	0.99000	60,045.48	2.00000	121,304.00
0	0001 CLEAN DRAINAGI STRUCTURES (LF			\$274,875.00		\$284,350.50	ı	\$303,363.00
	Contrac	t Grand Totals:		\$274,875.00		\$284,350.50		303,363.00





Tabulation of Bids

Page 3 of 7

Letting	j: 052	201006	October 06, 20	20 Cal	I Order: 009		Contract:	E5V70	
	No / Item ID Description	Alternate	Quantity Units	(4) SHENANDO CONSTRUC		(5) AVID CONS			PIPE SERVICES,
() indi	icates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0005 MOBILIZ	0101 1 'ATION		(1.000) LS	10,750.00000	10,750.00	10,000.00000	10,000.00	10,000.00000	10,000.00
	0102 1 NANCE OF TR	AFFIC	(100.000) DA (LS)	6,000.00000	6,000.00	10,000.00000	10,000.00	5,000.00000	5,000.00
	E430 94 1 PIPE, 0 to 24"		43,178.000 LF	3.12000	134,715.36	2.35000	101,468.30	3.50000	151,123.00
	E430 94 2 PIPE, 25-36"		15,701.000 LF	5.09000	79,918.09	2.55000	40,037.55	6.25000	98,131.25
	E430 94 3 PIPE, 37-48"		1,365.000 LF	6.66000	9,090.90	4.00000	5,460.00	9.00000	12,285.00
	E430 94 4 PIPE, 49-60"		408.000 LF	12.91000	5,267.28	4.00000	1,632.00	12.00000	4,896.00
	E432 4 SEWER INSPE A)	ECTION (VIDE	60,652.000 EO LF	1.00000	60,652.00	2.30000	139,499.60	1.25000	75,815.00
(0001 CLEAN D STRUCT	RAINAGE SOURES (LF)	ection Totals:		\$306,393.63		\$308,097.45		\$357,250.25



11/05/2020

Tabulation of Bids

Page 4 of 7

Letting:	05201006	October 06, 20	20 C a	all Order: 009		Contract:	E5V70	
Line No / Item Item Descripti		e Quantity Units	• •	OAH GENERAL CTION, LLC	• •	ISTRUCTION &		PIPE SERVICES,
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$306,393.63		\$308,097.45		357,250.25





Tabulation of Bids

Page 5 of 7

Letting:	05201006	October 06, 202	20 Cal	l Order: 009		Contract:	E5V70	
	No / Item ID Alterr Description	nate Quantity Units	(7) B & D WAT		(8) COASTA		(9) LMR CONST	RUCTION, INC.
() indic	cates item is bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(CLEAN DRAIN	AGE STRUCTUR	ES (LF				
0005 MOBILIZA	0101 1 ATION	(1.000) LS	25,000.00000	25,000.00	110,000.00000	110,000.00	20,000.00000	20,000.00
	0102 1 NANCE OF TRAFFIC	(100.000) DA (LS)	90,000.00000	90,000.00	110,000.00000	110,000.00	35,000.00000	35,000.00
	E430 94 1 PIPE, 0 to 24"	43,178.000 LF	3.90000	168,394.20	1.65000	71,243.70	4.75000	205,095.50
	E430 94 2 PIPE, 25-36"	15,701.000 LF	5.25000	82,430.25	5.50000	86,355.50	8.00000	125,608.00
	E430 94 3 PIPE, 37-48"	1,365.000 LF	12.50000	17,062.50	8.80000	12,012.00	12.00000	16,380.00
	E430 94 4 PIPE, 49-60"	408.000 LF	18.50000	7,548.00	22.00000	8,976.00	25.00000	10,200.00
	E432 4 SEWER INSPECTION (V .)	60,652.000 IDEO LF	1.50000	90,978.00	2.20000	133,434.40	2.00000	121,304.00
0	0001 CLEAN DRAINAGE STRUCTURES (LF			\$481,412.95		\$532,021.60		\$533,587.50



11/05/2020

Tabulation of Bids

Page 6 of 7

Letting: 05201006 October 06, 202		Contract:			E5V70			
Line No / Item		te Quantity Units	, ,	TERBLASTING ANY, INC.	• •	TAL GUNITE	(9) LMR CON	STRUCTION, INC.
•	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract G	Grand Totals:		\$481,412.95		\$532,021.60		533,587.50



11/05/2020

Tabulation of Bids

Page 7 of 7

Letting: 05201006

October 06, 2020

Call Order: 009

Contract:

E5V70

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.